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Answer:

Answer:

1) Find area of square 2)  Convert the following improper 3) 73 x 1000
having each side (s) fraction 374/ + 2914/, into a mixed
s equals 5996 ft number
s
Answer: Answer: Answer:
4) 8 of 183 5) Y of 66 6) Convert the following fraction into a
mixed number: 46/,
Answer: Answer: Answer:
7) 6/10 X 30/4 8) 20% of 143 9) Find the mean of the following set of data:
34,47,0.7,0.9,0.9,84,0.6,0
Answer: Answer: Answer:
10) Round 13.875to 1 decimal places. 11) 12)
Find Volume of Find Volume of
Cylinder Hexagonal Pyramid
/38
Answer: Answer: Answer:
13) 3200 + 100 14)  Round 30.70 to the nearest 1000 15) 5616.3-2084.5

Answer:
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16) A number ischosen at random from 17) 8895 - 8704 18) Find perimeter of
1 to 75. Find the probability of b rectangle having
selecting odd number. sidesa=8118in

a andb=7161in
Answer: Answer: Answer:

19) $147.00 earning 8.3% compound 20) 73 x 1000 21) b

interest for 2 years.
a 0 c
Measure angle boc
Answer: Answer: Answer:
22) Find the range of the following set of data: 23) 0550 x 9422 24) Solve by factorisi ng
-5,1,-0.7,04,0,9 £ +11s-12=0
Answer: Answer: Answer:
25) (2x 4% x (10 x 98) 26)  Share69intheratio 25:44 27)  Findthemean of thefollowing set of data:
93,09,1,0
Answer: Answer: Answer:
28)  Findthemeanof thefollowing setof data 29)  Share66intheratio 48:18 30) 74+ 213/,
93,0.9,1,0
Answer: Answer: Answer:
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31) 03:38am To 11:10 am 32) A number was shared in theratio 33)  Findthemean of the following set of data:
11:77. The smaller share was 87. 04,0.8,9,71, 22
What was the total amount shared?

Answer: Answer: Answer:

34)  Factorise 5f2 + 52f + 20 35) Decrease242 by ¥, 36)  What would you multiply by to
decrease an amount by 67%?

Answer: Answer: Answer:

37) Find perimeter of 38) Find perimeter of 39) 51.3x57.2
square having each square having each
s side (s) equals 8307 cm s side (s) equals 8307 cm
s s

Answer: Answer: Answer:

40) 41) 256284+ 324 42) 256284+ 324
40 Find Volume of
Cylinder

Answer: Answer: Answer:

43) Find area of square 44) Find area of square
having each side (s) having each side () Find Volume of
s equals 8206 ft s equals 8206 ft Rectangular Pyramid
36
s s
Answer: Answer: Answer:
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46) (8x8N)+(3Bx7 47) 9589 - 6948 48) Round 20.86398875413 to 3
significant figures.
Answer: Answer: Answer:
49) Convert the following improper 50) Find perimeter of 51)  4549.1-8414.6
fraction 138/17 + 24/6 into amixed square having each
number s side (s) equals 4888 cm
s
Answer: Answer: Answer:
52)  52x(-69) 53) Vgt By 54) 9400+ 100
Answer: Answer: Answer:
55) Round 1.1222531416 to 6 decimal 56) Increase 189 by 71% 57) 12102- Y
places.
Answer: Answer: Answer:
58) Find area of square 59) 60 x 10 60) Solve by factorising
having each side (s) f2+18f-19=0
s equals 4892 m
s
Answer: Answer: Answer:
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61) 250, x 1 ¢

Answer:

62) Increase 265 by Y/

Answer:

63) Find the range of the following set of data:
11,-14, 18,11, 14

Answer:

64)  (-8404) - 2979

Answer:

65) 24641.3+ 841

Answer:

66) 9470 - 6858

Answer:

67) (6- 10 + 19) + 52

Answer:

68)  5404.9-3952.8

Answer:

69) 5404.9-3952.8

Answer:

70) \

Name the type of angle.

Answer:

71)  Write 2 x 104 asanorma number.

Answer:

72) 39173+ 430

Answer:

73) 41521+ 504

Answer:

74)  Convert the following fraction into a
mixed number: 23/,

Answer:

75) Solve by factorising
f2-5f-14=0

Answer:
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76) Find perimeter of 77) 78) 134, + 22% 4
triangle 37 Find Volume of
b ¢ a=2477m,b= Cylinder
2578 m, 7
a €c=9738m
Answer: Answer: Answer:
79) Increase 247.4 by 78% 80) Find perimeter of 81) 33% of 113
triangle
b ¢ a=6574m,b=
ul 8932 m,
a € =9548m
Answer: Answer: Answer:
82) Find perimeter of 83) Convert the following improper 84) 3903 x 1518
square having each fraction 33%; + 2110/, - into amixed
s side (s) equals 6773 cm number
s
Answer: Answer: Answer:

85) 'What isthe probability of rolling a

86) Solve by factorising

87) Round 12.2543973092 to 4 decimal

120, 120, 31, 31, 31, 31, 154, 154,
93, 93, 93, 186, 186, 167, 167, 167

Answer:

Answer:

multiple of 1.when rolling adice x2-4x+3=0 places.
Answer: Answer: Answer:
88) Find the mode of the following set of data: 89) (-6150) + 5433 90) Find the median of the following set of data:

27,20, 30, 6, 17, 10, 13, 15, 22, 28,
5,8, 33,8, 23,18, 13, 15,5, 35

Answer:
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91) Increase 166 by 4/83 92) Find the range of the following set of data: 93) 45.8 X 62.9
-4,-11,-5,-0.7,0.7, -0.6
Answer: Answer: Answer:
94) 458 x 62.9 95) 458 x 62.9 96) 26 x 1000
Answer: Answer: Answer:
97) 98) 18%,-x 23, 99) _
36 & Find Volume of Cone
Find the Angle at side B. 34
Answer: Answer: Answer:
100)
41 __, Find Volume of Cone
ey
40
Answer:
Total: / 100
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1) 35952016ft 2) 6747119 3) 73000 4)18 5) 11 6) 110/, 7) 44,
8) 41.47 9) 21.01 10) 13.9 11) 26860.617188193  12) 47520.54595646 13) 32 14) 30.7
15) 3531.8 16) 37/ 17) 191 18) 30558in 19) $172.41 20) 73000 21) 148
22) 14 23) 89980100 24)s=1lor-12 25) 220399211520 26)1:68 27) 2373 28) 23.73
29)1: 65 30) 52/, 45 ﬁ/lli)n? Hours 32 o) 606 33) 20.64 f‘g)(lf *10(F 35 249
36) 0.33 37) 33228cm 38)33228cm  39) 2934.36 40) 201061.92982975  41) 79.1 42) 79.1
43) 67338436ft 44) 67338436t 45) 19680 46) 19247845 47) 2641 48) 20.9 49) 167/5,
50) 19552cm 51) -3865.5 52) 53) 4%/, 54) 94 55) 1.122253  56) 323.19
57) %ge 58) 23931664m 59) 600 60) f =1 or-19 61) 61, 62) 270 63) 32
64) -11383 65) 29.3 66) 2612 67) 40 68) 1452.1 69) 1452.1 70) Acute
71) 0.0002 72)91.1 73) 4656.1 74) 23 75) f=7o0r-2 76) 14793m  77) 142392.68702396
78) 70 5es 79) 440.372 80) 25054m 81) 37.29 82) 27092cm 83) 5533, 84) 5924754
85) 1/, 86) x=30r 1 87) 12.2544 88) 31 89) -717 90) 165 91) 174
92) 11.7 93) 2880.82 94) 2880.82 95) 2880.82 96) 26000 97) 137 98) 430,

99) 10895.043322649 100) 17174.039839624
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